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1. Use the following words to fill the gaps. 

arrangement • current • intended • obviated • border • regulatory • contentious • draft • 

governance • align  

 

a. I didn’t want that to happen, I had ………………………….. something else. 

b. We had to get our passports out at the ………………………….. . 

c. The ………………………….. rules may change in the future. 

d. We came to an ………………………….. where we agreed what to do. 

e. Nobody agreed, the plan was very ………………………….. . 

f. The plan isn’t finished yet, it’s only in ………………………….. form. 

g. Luckily everyone heard the fire alarm, which ………………………….. the disaster. 

h. The ………………………….. framework told everyone what they had to do. 

i. Our ideas must ………………………….. if we are to be on the same wavelength. 

j. The council took over the ………………………….. of the town. 

 

2. Einstein said: “If you can’t explain something to a six-year-old, you don’t 

understand it yourself”. Explain the backstop to your younger cousin. 

The backstop is …………………………………………………………………………………. 

…………………………………..………………………………………………………………. 

We need a backstop (or similar plan) because …………………………………………………. 

…………………………………..………………………………………………………………. 

The problem with it is ………………………………………………………………………….. 

…………………………………..………………………………………………………………. 

 

3. One of you is from Northern Ireland, one is from the South: discuss the backstop. 


